Section 3.0 | Mechanical Tee

ALGMT Mechanical Tee Grooved Outlet

Model | ALMTG
Size | 2"x 1 1/4" thru 8" x 3"
e Approvals | UL, ULC, FM

Working Pressure | 300 PSI / 2.07 Mpa
Housing | Ductile Iron ASTM A536 Gr. 65-45-12

Mechanical Tee Grooved Outlet

e Gasket | EPDM - ANSI / NSF 61
 Bolt / Nut | Carbon Steel heat treated & zinc electroplated,

ASTM A183 Gr. 2; Hex Nuts ASTM A563, Gr. B

GllS

LISTED

* Paint Color | Orange Enamel, Optional : Red

Nominal

Size

(e——B ——>

APPROVED

50x32 | 60.3x424 | 45 | 116 | 69 68 40 M10x55 141.3x424 M16x85
2x11s 2.375x1.900 | 1.77 457 272 27 157 3%X55 | 5.563x1900 | 2.01 | 803 | 323 | 433 | 319 | %x8&
——————————————————————————————————————————————————————————————————————————————————— 1413x483 | 51 | 204 | 82 | 110 | 81 M16x85
50x40 | 60.3x483 | 45 | 116 | 69 | 685 | 40 M10x55 5563x2375 | 252 | 803 | 374 | 433 | 3.19 ox85
2%x1 | 3.000x1.315 | 1.5 | 567 | 272 | 299 | 1.93 V2x70 125x50 | 1413x603 | 64 | 204 | 95 | 110 | 81 | | M16x85
65x25 76.1x33.7 38 | 144 | 69 76 49 M12x70 5x2V2 | 5.563x2.875 | 2.76 | 803 | 445 | 433 | 3.19 %x85
25x1% | 3.000x1.660 | 2.01 | 567 | 272 | 299 | 193 ax70 125x65 | 1413x73.0 | 70 | 204 | 113 | 110 | 81 | | M16x85
C65x32 | 76.1x424 | 51 | 144 | 69 | 76 | 49 | Mi2x70 5x2% | 5563x3.000 | 276 | 803 | 445 | 433 | 319 | Yx85
o1 | 300061900 | 201 | 567 | 345 | 299 | 193 70 125x65 | 1413x76.1 | 70 | 204 | 113 | 110 | 81 M16x85
——————————————————————————————————————————————————————————————————————————————————— 6x17 | 6.500x1.660 | 2.01 | 937 | 323 | 476 | 3.74 %x105
65x40 | 761x483 | 51 | 144 | 80 | 76 | 49 | MI2T0 - Tysg35 | ie5ixa24 | 51 | 238 | 82 | 121 | 95 | M16x105
_3x1% | 3.500x1.660 | 201 | 575 | 339 | 335 | 217 | x/0 6x1% | 6500x1.900 | 2.01 [ 937 | 323 | 476 | 374 | x105
80x32 88.9x42.4 51 146 | 86 85 55 M12x70  150x40 | 165.1x483 | 51 | 238 | 82 | 121 | 95 | M16x105
3x1% | 3.500x1.900 | 2.01 | 575 | 339 | 335 | 217 2x70 . 6x2 | 6500x2375 | 252 | 937 | 374 | 48 | 374 | #x105
80x40 | 889x483 | 51 | 146 | 86 | 85 | 55 | | M12x70 150x50 | 165.1x60.3 26;‘6 238 4955 1425 39754 M16x105
6x2V2 | 6.500x2.875 | 2. 937 | 4. ; . %x105
ERSXZRIE:500x2 3752528 BO Yo NSHE IR S SBIN /NI SIVXORS . -~ T50x65 | 165x730 | 70 | 238 | 113 | 22 |95 | Miexios
80x50 | 88.9x603 | 64 | 146 | 96 | 8 | 55 | MI12x70 6x2%s | 6.500x3.000 | 2.76 | 937 | 445 | 48 | 374 | #x105
4x1% | 4.500x1660 | 2.01 | 701 | 323 | 378 | 272 Vex7s T 150x65 | 1651x76.1 | 70 | 238 | 113 | 122 | 95 | M16x105
100x32 | 1143x424 | 51 | 178 | 82 % 69 M12x75 6x17% | 6.625x1.660 | 201 | 937 | 323 | 476 | 374 %x105
4x1% | 4500x1.900 | 2.01 | 7.01 | 323 | 3.78 | 272 Vx5 T 150x32 | 1683x424 | 51 | 238 | 8 | 121 | 95 | M16x105
 100x40 | 1143x483 | 51 | 178 | 82 | % | 69 | M12x75 ... 6x1%2 | 6.625x1.900 | 2.01 | 937 | 323 | 476 | 3.74 | #x105
a2 | 4500x2375 | 252 | 701 | 372 | 382 | 272 B 150x40 | 1683x483 | 51 | 238 | 82 | 121 | 95 | M16x105
——————————————————————————————————————————————————————————————————————————————————— 6x2 | 6.625x2.375 | 252 | 937 | 374 | 48 | 374 %x105
100x50 | 1143x60.3 | 64 | 178 | 95 | 97 | 69 | MI2XT5 550 | 1683x603 | 64 | 238 | 95 | 122 | 95 | M16x105
 4x2% | 4500x2.875 | 276 | 701 | 445 | 382 | 272 | Vx75 6x21> | 6.625x2.875 | 2.76 | 937 | 445 | 48 | 3.74 %x 105
100x65 | 1143x730 | 70 | 178 | 113 | 97 69 M12x75 T 150x65 | 1683x73.0 | 70 | 238 | 113 | 122 | 95 | M16x105
4x2 | 4500x3.000 | 276 | 7.01 | 445 | 382 | 272 VaxT5 6x2V> | 6.625x3.000 | 2.76 | 937 | 445 | 48 | 3.74 %x105
0065 | 1143x764 | 70 | 178 | 113 | 97 | 69 | 1 Mi7s 150x65 | 1683x76.1 | 70 | 238 | 113 | 122 | 95 | M16x105
8x1Vs | 8.625x1.660 | 2.01 | 1221 | 323 | 598 | 488 %x115
_A4x2¥e | 5.500x1.660 | 201 | 803 | 3.23 | 433 | 319 | A8 T oaxdra | 51 1 301 | &2 1152 1 124 T M20xii5
e e R O T 8x1%, | 8625x1.900 | 2.01 | 1221 | 323 | 598 | 488 | %xiis
 4x2%2 | 5.500x1.900 | 201 | 803 | 323 | 433 | 319 | ¥x85 T p00x40 | 219.1x483 | 51 | 301 | 82 | 152 | 124 | M20x115
125x40 | 139.7x483 | 51 | 204 | 82 | 110 | 81 M16x85 8x2 | 8.625x2.375 | 252 | 12.21 | 382 | 598 | 488 %x115
5x1% | 5.500x2.375 | 2.52 | 803 | 3.74 | 433 | 3.19 %4x85 200x50 | 219.1x603 | 64 | 301 | 97 | 152 | 124 | M20x115
125x50 | 139.7x603 | 64 | 204 | 95 | 110 | &1 | M16x85 . 8x2%> | 8.625x2.875 | 276 | 1221 | 453 | 598 | 488 | %x115
200x65 | 219.1x73.0 | 70 | 301 | 115 | 152 | 124 | M20x115
,,,,5,)@1/,2 ,,,,, 51599}?:?,7,5,,,,,2:79, ,,8,'9,3,',,,,4:4,5,, ,,4':3’,3,,,,,3::],9 ,,,,,,, f/?(,a,s ,,,,, 8x215 8.625x3.000 2.76 12.21 453 598 4.88 34x115
12565 | 1397x730 | 70 | 204 | 113 | 110 | 81 | MT6x85  “Hag.65 | 19.4x761 | 70 | 301 | 115 | 152 | 124 | M20x115
_ 5x2%2 | 5.500x3.000 | 276 | 803 | 445 | 433 | 319 | %x8 8x3 219.1x889 | 35 | 1221 | 5 | 598 | 488 Y15
125x65 | 139.7x76.1 | 70 | 204 | 113 | 110 | 81 M16x85 ©200x80 | 8.625x3.500 | 89 | 301 | 127 | 152 | 124 | M20x115

www.aleumUSA.com  3.02



